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Chapter 1
(1) Set of natural numbers:
N=1{1,234,...}

(2) Set of even natural numbers:
E=1{246,...}
(3) Set of odd natural numbers:
0={135,...}
(4) Set of prime numbers:
P=1{23,5,711...}
(5) Set of whole numbers:
W ={0,1,2,34,...}
(6) Set of integers:
Z={0,+%1,1+2,43,... too}
or
Z ={-,--,-3,-2,-1,0,1,2,3,--+, +0}

(7) Set of non-negative integers:
=1{0,1,2,3,4,...}

(8) Set of rational numbers:

Qz{x:ng, p€Z, q€Z,q+ 0}
(9) Set of irrational numbers:

Q'={x:x¢g, pEZ, q€EZ q* 0}
(10) Set of real numbers:

R={x:xeQnQ’}

(10) Set of complex numbers:

C={a+ib: Vab€eR}



ELEMENTS OF A SET
MCQ-1:
If A={3,5,7}, then which is true?
(@) 330A (b) {3}€ A (c) 3€{3,5} (d) 314
Solution:

Note: 3 is an element of set A but {3} is a set, which is subset of A.

The answer is (d).

M(Q-2:
If A={{3},{5},{5,7}}, then which of the following is true?

(a) {5}€ A (b) {5104 (c){5}04A (d) 5€e4
Solution:

Note: {5}is an element of set 4, not subset of A, so that {5} € A.

The answer is (a).
POWER SET
MCQ-3:
If A ={6}, then what is the power set of A?
(a) {{6}} (b) { P, 6} (c) {{®}, {6}} (d) {®,{6}}
Solution:

Note: Power set is a set of all subsets of set A, that are @ and {6}.

The answer is (d).
EXERCISE 1.1

(1) If A ={2,6,7}, then which of the following is not true?

(@) 6€ A (b) {2}cA (c) {7} € A (d) {2,6,7} € A
(2) If B ={®,{2},{6},{2,6}}, then which of the following is true?
(a) {2,6}cB (b) {2,6}€B (c) 6€B (d) None

(3) A={1,689}
Total number of subsets of A =?
(a) 16 (b) 4 (c) 8 (d) 12



OPERATIONS IN SETS

MCQ-4:
IfA=1{2,3,5} and U = {1,2,3,4,5} then
A =?
(@) {1,3,5} (b) {1,4} (c) {1,2,3,4,5} (d) {1}
Solution:
A ={1,4}
The answer is (b).
MCQ-5:
ANB' =7if
A={1,2,6} , B={2,3,5},U ={1,2,3,4,5,6}
(@) {1,2,6} (b) {1,2,4,6} (c) {1,6} (d) {2}
Solution:
B’ ={1,4,6}
ANB' = {1,6}

The answer is (c).
MCQ-6:
If A={2}and B = {5,7} then

AXB =?
(a) {(2,5),(2,7),(5,2),(7,2)} (b) {10,14}
(C) {(5'2)' (7r2)} (d) None

Solution:
AXB = {2}x{5,7}
AxB ={(2,5), (2,7)}
The answer is (d).



MCQ-7:
If A = {135} and B = {1,5,6} then
A- B =?
(@) {0,2,1} (b) {1,5} (c) {3,6} (d) {3}
Solution:

Note: (A — B) is the set of all the elements of set A only,

except the elements which are common in A and B.

A-B ={1,3,5}—-{1,5,6}
A—B = {3}

The answer is (d).

(1) AnB=?ifA={1234}and B = {2,5,6}.

(a) {2,5} (b) {2} (c) @ (d) None
(2) A'nB=?,ifA={812}, B ={69,12}and

U = {5,6,7,89,10,11,12,13,14}

(a) {6,912} (b) @ (c) {6,9} (d) A
(3) AUB =?,ifA ={8,12}, B = {6,9,12} and

U = {5,6,7,89,10,11,12,13,14}

(a) {6,8,9,12} (b) {6,8,9,12,14}

(c) {4,56,7,89,10,11,12,13,14} (d) {12}
(4) A—B =?,ifA={23,4}and B = {2,3,5}.

(a) {4,5} (b) {4} (c) {5} (d) {4,—5}
(5) B—A=?ifA={23}and B = {5,6}.

(a) {2,3} (b) {5,6} (c) {2,—5,3,—6} (d) {2,3,5,6}
(6) BxA=?,ifA={2}and B ={0}.

(a) {0,2} (b) {(2,0)} (c) {(0,2)} (d) @

(7) BxA=?,ifA={5}and B ={1,3}.

(a) {5,15} (b) {1,3,5} (¢ {(51),(53)} (d) {(1,5),(3,5)}
(8) AUB = ,ifA <B.

(@) A (b) B (c) U (d) None



(9) AnB = if B C A.

(@) A (b) B (c) @ (d) None
(10) AnA" = :

(a) @ (b) A (c) A (dy U
(11) AUA' = .

(a) @ (b) A (c) A (dy U

DE MORGAN'S LAWS
If A and B are two sets, then
(i) (AuB) =A"nB’
(i) ANnB) =A"UB’
MCQ-8:
If A'=1{2,3} , B'={1,3} and U = {1,2,3}, then (AUB)' =?
(a) {1,2,3} (b) {3} (o {1,2} (d) None

Solution:
By De Morgan’s law
(AuB) =A"nB’

(AUuB) ={3}
The answer is (b).
(1) If A" ={2,4}, B' ={2,5}and U = {1,2,3,4,5}, then (AN B)" =7
(a) {4,5} (b) {1,3} (c) {2} (d) {2,4,5}
(2) IfA" ={1,5}and B’ = {2,5} then (AU B)' =?
(a) {5} (b) @ (c) {1,2,5} (d) {1,2}
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